
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
  

FRENCH FITNESS MBR500  
MEDICINE BALL REBOUNDER 

FF-MBR500 

ASSEMBLY MANUAL  

Medicine balls show not included but available 



 

 
 
 
 
 
 
 
 
 
 

WARRANTY 

• 14 Gauge Steel 
• Steel Tubing: 40mm x 80mm x 2mm 
• 30 to 60 degree adjustable angle 
• 36" diameter polypropylene trampoline mat 
• Solid oval steel tube frame 
• Stable triangle base design 
• Protective cover to prevent the ball and hands from touching the springs 
• Standard rubber feet protect base of the frame and prevent the trampoline from 

slipping 
• California Residents see Prop 65 WARNINGS 

FEATURES 

10 Years Parts, 1 Year Labor (Commercial) 

TECH SPECS 

• Dimensions: 47.9"L x 40.7"W (121.7 cm x 103.4 cm) 



 

3 

 
 

PART HO. DESCRIPTION Q’TT PART HO. DESCRIPTION Q'TY 

01 Main frame 1 07 Nylon nut M10 14 

02 Trampoline 1 08 Hex bolt Ml0*25 2 

03 Adjust tube-A 1 09 Hex bolt M10*75 1 

04 Adjust tube-B 1 10 Hex bolt M10*65 1 

05 Ball rack 6 11 Hex bolt M10*60 10 

06 Pin 1 12 Washer 010 28 
 
 
 
 
  

PARTS L IST 



 

4 

 
 

 
 

 
 
 

 
 

 
 
 

 
 
 
 
 
 
 
 
 
  



 

5 

 

 
 
 
 
 
 
 
 
 
 
 

 

ASSEMBLY GUIDE 


